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L tions
ver all the ques : 3
o stions with four options leftered A.p,

s before circling the correct or best

i i ve
This part consists of 30 mulhple-chmzﬁociice
Read and evaluate all four answer

answer. e
fTolat Yy J e — = S
& btracted fron Our,
i ~ertain number is subtracie
TwiCce g ceriain nu : P8
ice the number. What is the numbers

|0 3k

N o =
BWN -

> 5.55%
is the value of the underlined digit in the amount, GHgZ53

%)
Q
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. GHg0.05
GHg0.50
GHg5.00
GHg50.00

. . 6, 4’
following scores were obtained by ten learners in a class test: 8, 5,

3. Th
9. 8, 8 and 5. What is the range of the scores?

=
T
A.
B
=
D.
4. If An object weighs 40.24kg, what is the mass of this load in grams@2
A. 402.0g
B. 402.4g
C. 4024g
D. 40240g
S. A pool with g rectangular base 10 metres by 3 metres is 2 metres deep.
What is the volume of water in the pool when it is half fulle
A. 30 m3
B. 40 m3
C. 60 m3
D. 80 m3

6. A Red Cross Society in Redeemer JHS has 80 members. Given that 30 of the
members are males, express the number of females as g ratio of the
number of males.
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out of 60 learners in a class. 34 are boys. If a prefect is 1o be selected al
random from the class, what is the probability that a girl is selected?
1

o

B.
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njw niNn WIN

D.

8 How many hours will it take a motorist fo cover 160 kilomeftres iravelling af

an average speed of 80 km every hours
A. 2 hours
B. 4 hours
C. 6 hours
D. 8 hours

9. A numeracy examination paper starts at 92:45 a.m.
paper is 2 hours 30 minutes, at what time is the examination ex
end?

AL 1210 P
B. 1215 p.m.
C. 12.30 p.m.
D. 12.45 p.m.
10.When 3 is added 1o 5 times a certain number
4, the result is 72. What is the number?
A3
B. 4
=, 5
B
11.Given the data: 3, 4, 4, 4, 5, which of the following statements is true?
A. mean = mode = median
B. mean > mode > median
C. mode > mean > median
D. mode > median > mean

12.Three towns, Oseikrom, Mensakrom and Mosikrom perform their funeralrites
at every 7 days, 14 days, and 28 days intervals respectively. If they all held
their funeral rites on 12th March 2022, on which of the following dates did all
the three towns hold their funeral rites on the same day<

A. 2nrd April 2022
B. 9t April 2022
C. 16t April 2022
D. 23 April 2022

If the duration of the
pected 10

and the sum is muliiplied by
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irst ranch has 486 cattle, the s o]
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18.A cargo_truck can convey a load of 10,000 kg. If it is conveying some bags
: - A Cargo._fruc ) v o 4
/ of cement each weighing 50 kg, which of the foll

owing expressions can be

= |
Used to detfermine the number of cement bags it can convey at a time?2

A. 10,000 - 50
oA B. 10,000 + 50

riat 4 C. 10,000 = 50
L D. 10,000 = 50
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: 1 1 3. 2
~arner solved a fraction task as follows: ShemoPom
nescribe what makes the leamer’s answer wrong.

Explain how you would solve the task correctly? (6 marks)

wie

2. (0)7
I

ii.

p) The diagram below represents information about learners’ f?od
f..c!erences (R = Rice; B = Banku). Use the information to answer questions

ib)i and (b)ii.

i. How many of the learners prefer both Rice and Banku?

il. How many do not prefer Rice? (4 marks)
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